Count in 6s and colour in the grid:

Count in 4s and colour in the grid:
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Count in 2s and colour in the grid:
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2x0=
8x2=
3x2=

2x6=

2x9=

4x 4=

3x 4=

4x b=

4x 0=

4x 10=
8x 4=

Use the multiplication square to help you!
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Count in 5s and colour in the grid:

Count in 6s and colour in the grid:

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 10| 11 | 12

13(1|15|16|17 18|19 20|21 (22|23 |24
n 12|13 |1|15]|16|17]|18 |19 |20

25|26|27|28|29|30(31(32(33(34(35]36
21 |22 |23 | 24| 25|26 | 27|28 |29 30

37|38 (39 |40 | 41 |42 |43 |44 | 45| 46| 47 |48
3113233363536 37|38 3940 49|50 |51|52|53|54|55|56|57|58]|59]60
b1 |42 | 43 | 46| 45 | 46| 47 | 48 | 49 | 50 616263 |64|65|66|67|68|69|70| 71|72
51152 153|541 55!56/57!58!59]60 73|76 |75 |76 |77 |78 | 79 |80 | 81| 82 |83 | 84

85(86|87|88(89|90(91|92|93|[94|95](96
61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70

97 | 98 | 99 |100|101|102(|103 |104|105 (106|107 |108
7 |72|73|7%|75|76|77|78| 79| 80

109|110| 111 | 112|113 | 116 | 115 [ 116 [ 177 | 118 | 119 |120
81 |82 |8 |84 |8 |8 8788|899 121|122 123|124 125|126 | 127 [128 | 129|130 131 132
91 | 92 |93 | 94| 95|96 | 97| 98|99 [100 133 (134|135 136 137|138 | 139 |140| 141 | 142|143 144

3x 7=

2x 3

11x 3 =
3x 12=

1x 3=
3x 4=

3x 10=

8x 3=

3x0

I x 6=

3x9

5x0

5x 7

2x 5

11x 5 =

5x 12=
1x 5

bx 6=

6x 7 =

Ox 6

11x 6

6bx 12=
1x 6=

6x 4=

6 x 10=

8x 6=

3x b=

6x5

6x 9

Use the multiplication square to help you!
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8

9 |10

11

12

2 4

6

8 | 10

12 [ 14 | 16
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Count in 5s and colour in the grid:

Count in 7s and colour in the grid:

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 |10 11 | 12
a1l la!ls!le!lalelolo 1316|1516 |17 18|19 20| 21| 22|23 |24

25|26 |27 |28|29|30|31|32|33|34]35]36
21|22 23| 26|25 |26 | 27| 28| 29 | 30

37|38 |39 |40 | 41 |42 |43 |46 | 45|66 | 47 |48
31 | 3213334353637 |38]|39 |40 49|50 |51 |52|53|54|55|56|57|58]|59]|60
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 61| 62|63 |64 |65|66|67|68(69|70| 71|72
51|52 |53 |54|355(56!57!58!3509]60 73|74 |75 |76 | 77 |78 | 79 |80 | 81 | 82 | 83 | 84

85|86|87|88|89[90|91|92|93|94]|95]96
61 | 62 | 63 |64 | 65| 66 | 67 | 68 | 69 | 70

97 | 98 | 99 [100|101|102 (103 |104|105|106 107|108
n|72|13|7|715|7|77|78|79]80

109|110 | 117 | 112 | 113 | 112 | 115 | 116 | 117 | 118 | 119 [120
81 (82 )83 84|85 86|87 888|899 121|122 123|124 125 [ 126 | 127 [ 128 129|130 131 | 132
91 |92 (93 | 94|95 |96 | 97| 98| 99 100 133134135 [136 | 137|138 [139 [140| 141 [ 142|143 | 144

5x0=

5x 7=

2x 5=

11x 5=

5x 12=

1x5=
5x 4=

5x 10=

8x 5=

3x5=

5x 6=

5x9=

7x0=
1x 7=
7x 4=

3x 7=

7x 6=
2x 7=
1MMx 7=

7x 10=

7x5=
7x9=

5x2=

2x4 =

2x7=
2x2=
11x2=
2x12=
1x2=

2x0=
8x2=

2x6=
2x9=

Use the multiplication square to help you!
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Count in 7s and colour in the grid:

Count in és and colour in the grid:

12 |3|4]|5|6|7|8]|9]10 1 12 1|23 |a|5|6|7|8|9 10|11
1314 (15|16 |17 (18 (19 20| 21 | 22| 23 | 24 1314 |15 16|17 |18 |19 |20| 21|22 (23|24
2512627 (28|29 (3031|3233 343536 25|26 (27|28 |29 (3031 (3233343536
37 (38|39 (40 | 41 |42 |43 |44 | 45 | 46| 47 | 48 37 (38|39 |40 41|42 |43 |a6|a5|46|47 |48
49 |50 | 51 | 52| 53 [ 54 | 55 | 56 ( 57 | 58 | 59 | 60 49 |50 | 51 | 52|53 |54 |55|56|57|58|59 |60
61|62 |63 |64|65|66|67 68|69 |70 71|72 61|62 |63 |64|65|66|67|68[69]|70] 71|72
73|74 |75|76 | 77|78 |79 (80| 8182|8384 73|74 75|76 (77|78 |79 |80 8182|8384
85|86 |87(88|89(90|91(92(93|94|95]|96 85|86|87|88|89(90|91|92|93|94]|95]|96
97 | 98 | 99 |100| 101102103 (104(105|106|107 108 97 | 98 | 99 |100(101(102|103|104|105(106(107|108
109|110 | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 120 109|110 111 | 112 | 113 | 116 | 115 | 116 | 117|118 | 119 |120
121|122 (123|124 125|126 | 127|128 (129 |130| 131|132 121(122 1123 (124(125(126 1127 (128129130 131 (132
133|134 (135|136 | 137|138 (139 |140| 141 (142|143 (144 133 (134 135|136 137 (138139 (140| 141 [ 142|143 144

bx 6=

bx 7=

Ox 6=

11x 6=

bx 12=

1x 6=

bx 4=

bx 10=

8x 6=

3x6

6bx 5=

6x9

5x 3=
3x7=
2x 3=

1x 3=
3x 4=

8x 3=
3x0

3x6
3x9=

1MMx 3=
3x12=

3x 10=

7x0=
1x 7=
7x 4=

8x 7=

7 x9

Mx7=

7x 10=

3x7=
7x5=

Use the multiplication square to help you!
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Count in 8s and colour in the grid:

1 2|3 |4(5|6|7|8|9|10]|11](12
13|14 15|16 17|18 [19 [20| 21| 22|23 |24 | Count in 4s and colour in the grid:
25 (26|27 (28(29|30|31|32|33|34|35](36
37 (38|39 |40 | 41 |42 |43 |44 | 45 | 46 | 47 | 48 1 2 3 4 5 6 7 8 9 10
49 |50 | 51| 52|53 |54|55|56|57|58|59]|60
61 | 62|63 |64|65|66|67|68|69|70| 71|72 11112113 /14|15 /16|17 18|19 20
73|76 |75 |76 |77 |78 |79 |80 81 |82|83|84

21|22(23(24|25(26|27|28(29|30
85|86(87)|88|89(90|91(92(93|94|95]|96
97 | 98 | 99 |100(101|102|103|104(105|106|107|108

31(32(33(34|35|36|37(38(39|40
109(110 | 1171 | 112|113 (114 | 115|116 | 117 | 118 | 119 |120
1211221123 (124 (125|126 (127 1128|129 (130|131 (132

41|42 |43 |44 |45 |46|47|48|49(50
133|134(135|136|137 (138|139 (140|141 | 142 (143 | 144

8x 7=
8x 6=
2x 8=

11x 8 =
8x 12=

Ox 8 =
8x 4=

8x 10=

8x 8=
3x8=
8x5=
8x 9=

5x 3=
3x 7=
2x 3=

1x3=
3x 4=

8x 3=
3x0=
3x 6=
3x9=

1Mx 3=
Ix12=

3x 10=

5x 4=
4x 7=
2x 4=

Tx 4=
4 x 4 =

8x 4=
3x 4=
4x b=
4x 0=

1Mx 4=
4x 12=

4 x 10=

Use the multiplication square to help you!
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Count in 8s and colour in the grid:

112|3|a|5|6|7|8|9]|10]11]12
13|16 1516|1718 19|20 21|22|23 |22
25|26 |27 (28|29 (30(3132|33|3435]36 . . .

Count in 4s and colour in the grid:
37 (38|39 |40| 41 |42|43|64|45|46|47 |48
49|50 |51 |52|53|564|55|56|57|58]|59|60 1/2|3|4|5(6(7|8|9]|10
61|62 |63|64|65|66|67|68|69|70| 7172

11/12(13(14|15(16|17|18(19 |20
73|74 |75 |76 |77 |78 | 79 | 80| 81|82 | 83 | 84
85|86|87|188|89(90(91192|93 |94 |95 |96 211221232425 26 27128129130
97 | 98 | 99 [100|101|102|103|104|105|106|107|108
109|110 | 111 [112| 113|118 | 115 | 116 | 117|118 | 119 |120| | 31|32 |33 |34|35|36|37 |38 |39 |40
121122123 124|125 126 [127 [128 129 [130 | 131|132

41 |42 |43 |44 |45 46|47 |48 (49|50
133|134 135 [136 137 138|139 |140| 141 | 142 | 143 | 144

5x2=
2x7 =
2x2=

1Mx2=

2x12 =

1x2=
2x4=
2x0=
8x2=
3x2=
2xb6=
2x9=

5x 4=
4x 7=
2x 4

Mx 4=
4 x 12=

1x 4=
4x 4=

4x 10=

8x 4=
3x 4

4x b=
4x 0=

8x 7=

2x 8=

Ox 8=
8x 4=

3x 8=
8x 5=
8x 9=

8x 6=
11x 8 =

8x 12=

8x 10=
8x 8=

Use the multiplication square to help you!
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Count in 9s and colour in the grid: Count in 7s and colour in the grid:

1(2|3|4&4|5 |67 (8| 9]|10]|1|12 1|12 |3|&4|5|6|7|8|9]|10]11]12
1314|1516 |17 |18 (19 |20 | 21|22 |23 |24 1314|1516 |17 |18 |19 |20 |21 (22|23 |24
25|26 (27 (28(29 (3031323334 35|36 25|26 |27 |28 (29|30 |31(32(33(34(35|36
37|38 (39 (40| 41 |42 |43 |44 | 45| 46 | 47 |48 37 (3839 |40 | 41 |42 |43 |44 | 45|46 |47 |48
49 (50| 51|52 |53 |54 (55|56 |57|58|59|60 49 |50 | 51|52 |53 |54 |55|56|57|58]|59 |60
61|62|63|64|65|66|67|68|69|70| 71|72 61|62 |63 |64|65|66|67|68|69|70| 71|72
73|74 75|76 (77|78 |79 |80| 81|82 83|84 73|74 75|76 |77 |78 |79 |80 | 81 (8283 |84
85|86|87|88|89|90|91[92|93|94|95]|96 85(86(87|88|89|90|91(92|93|94|95]|96
97 | 98 | 99 (100|101 (102|103 |104|105|106|107 (108 97 | 98 | 99 (100(101|102|103|104|105|106(107 |108
109|110 | 111 [ 112|113 | 114|115 | 116 | 117|118 | 119 [120 109|110 | 111 {112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 |120
121122123 |124(125 [ 126 (127 |128 129 (130 | 131 132 121|122 (123|124 125|126 | 127 | 128|129 |130 131 | 132
133 (134135136 | 137 [ 138139 |140| 141 | 142 143 | 144 1331341135136 137|138 | 139 |140| 141|142 (143 | 144

5x0= 7x 1= Qx 7 =
- Use the multiplication square to help you!

5x 7 = 7x 6= dx b=
x 1 2 3 &4 5 6 7 8 9 10 | 11 | 12
2x 5 = 2x 7 = 2% 9= 11| 2]3|a]|s|e]| 78] 0]12]12
[ — —_— zi 2 4 6 8 10|12 |14 |16 | 18 | 20 | 22 | 24
11}(5: 11X7= 11Xq= 3 3 6 9 12 | 15 18 [ 21 | 24 | 27 | 30| 33 | 36
7 O 4 4 8 12 | 16 | 20 | 24 | 28 | 32 | 36 | 40 | 44 | 48

i X = - 1
5 x 12 - q X 12 - 5 5 10| 15| 20| 25| 30| 35|40 | 45|50 | 55| 60
6 6 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 60 | 66 | 72
1x5= 1x 7= 1x 9= | © |

7 7 14 | 21 | 28 | 35| 42|49 |56 |63 |70 |77 | 84
5 X 4 = 7 X 4 = q X 4 — 8 8 | 16|24 |32 40 |s8|56|64)|72]|80]88]96
- - . 9 9 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90 | 99 | 108
5 X 1 O = 7 X 10 = q X 1 O = 10 10| 20| 30| 40| 50| 60| 70| 80 | 90 (100| 110|120
- 11 11 | 22 | 33 |44 | 55 ) 66 | 77 | 88 | 99 (110 121|132
8 X 5 = 8 x 7 = q x O = 12 12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 |108|120| 132|144

3x5= 3x7= 3x 9=

5x 6= 7x5= Qx5 =

5x 9= 7x9= 9x 9=




Count in 9s and colour in the grid: Count in 7s and colour in the grid:

12(3|a|s|6|7|8]|9f10|n|awz| | T[2]3[4[5][6[7]|8][2|10|1n|1
13 118 115 |16 | 17 1 18 | 19 | 20 | 21 | 22 | 23 | 28| |13 |14 |15 |16 |17 |18 |19 |20| 21|22 |23 |24

25|26 |27 |28|29|30|31 (3233|3435 |36| [2°]26]|27)|28|29|30|31)32)133)34)35)36

37138139 |40| &1 |42 |63 |4aalas |46l 47|48 37|38 |39 |40 | 41 |42 |43 |44 | 45 | 46| 47 | 48

49|50|51152|53|54|55|56|57158]|59]|60 49 |50 | 51 (52|53 |54 (55 |56|57|58]|59 |60
616263666566 6768|6970 71|72 61 62|63 |64|65)|66|67|68|69|70| 71|72

73|74 75|76 |77 |78 |79 |80 | 81|82 |83 |84 73|74 75|76 |77 |78 |79 |80 8182|8384

85/86|/87/88189190(91]192(93 |94 95|96 85|86 (87 |88(89|90(91192|93|94(95|96

97 | 98 | 99 [100|101[102|103 [104|105|106|107|108| | 97 | 98 | 99 |100|101|102(103|104(105|106|107 108

109|110 | 111 | 112|113 | 114|115 | 116 | 117|118 | 119 [120| [109(110| 111 | 112|113 | 114 (115|116 | 117 | 118 (119 |120

1211122 1123 11241125 (126 1 127 1128 1 129 | 1301 131 | 132 121(122 123 (124125 (126|127 (128|129 (130|131 (132

133 (134 (135|136 137|138 139 [140| 141 142|143 |144| |133[134|135|136|137 (138139 |140| 141|142 (143|144

bx 6= 7x 7= Qx 7 =
bx 7/ 7x 6= qyx b Use the multiplication square to help you!
- X - x |1|2|3|a|[5]6)|7|8[9]|10]11]12
0X6= 2)(7: 2xq= 2123456789101112
- e — 2 2|46 |8 |1w0]12|14|16|18]|20]22]024
11x 6= "Mx 7= 11x 9 = 33| 6|9 |12|15]|18|21]24]27]30]33]36
7 O || 4| 8 |12|16]20]24|28|32]36]40]44]as
6 X 12 = x - q X 12 = 5 || 5 |10|15|20]25]30(35|40]|s5]|50]55] 60
6 || 6 |12 |18|25]30]36|az2|4s8]|54]60]|66]72
Tx 6= Tx 7= 1x9= —
6 7 || 7 |16 |21|28]35 |62 |a9|56]|63]|70]|77]8s
b X 4 — 7 x 4= Qx 4 = 8 || 8 |16|24|32]40]| 68 |56|6s]|72]|80]88]096
—_— — 9 || 9 | 18|27 |36 |45 | 54|63 |72]81]090] 99108
6 X ’|O= 7 x 10= q X ’]O = [ 20|[ 10]20]30 |40 |50]60]70 |80 90]|100|110]120
- 11 || 11 [ 22 | 33 | a6 | 55 [ 66 | 77 | 88 | 99 110|121 132
8 X 6 = 8 x /= q X O b 12 || 12 [ 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108|120 132|144
3x b= 3x7= 3x9-=
bx 5= 7 x5 = 9x 5=
bx 9= 7x 9= 9x 9=




Count in 8s and colour in the grid:

Count in 3s and colour in the grid: 112 (3|4|5|6|7|8|9]|10|1 12
13|16 |15 |16 |17 |18 |19 20|21 |22|23 |24

1 2 3 4 5 6
25 |26 |27 (28 293031 3233343536
7 8 9 10 1 12 37 (38|39 |40 | 41|42 |43 |6t |45|46 |47 |48
49| 50|51 (52|53 |54 (555657585960

13 14 15 16 17 18
61|62|63|64|65|66|67|68|69]|70]| 71|72
19 20 21 2z 23 24 73|76 (75|76 |77 |78 |79 |80 | 81| 82|83 | 84
25 26 27 28 29 30 85|86|87|88[89[90|91|92|93 94|95 |96
97 | 98 | 99 [100|101|102|103|104|105|106|107|108

31 32 33 34 35 36
109|110 | 111 | 112|113 | 114 | 115 | 116 | 117|118 | 119|120
121 (122|123 |124 [ 125 [126 [ 127 [128 | 129 |130| 131 | 132
133|134 135|136 | 137138139 |140| 141|142 143 | 144

8x 7=

8x b=

2x 8=
11x 8 =

8x 12=

Ox 8=
8x 4=

8x 10=
8x 8=

3x8=
8x 5=

8x 9=

5x 3=

1x 3=
3x 4=

3x 10=

8x 3=
3x0=
3x 6=
3x9=

3x 7=
2x 3=
11x 3=
3x 12=

2x 9=

9x 0 =

9x 6=

1Mx 9=
9x 12=

Qx 4 =
9x 10=

3x 9=
9x 5=

Use the multiplication square to help you!

1

2

3

4

5

7

8

9

10

11

12

2

3

4

5

7

8

9

10

11

12

4

6

8

10

14

16

18

20

22

24

6

9

12

15

21

24

27

30

33

36

8

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108

10

20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b

55

66

77

88

99

110

121

132

x
1
2
3
4
5
6 6
7
8
9
10
11
12

12

24

36

48

60

72

84

96

108

120

132

144




Count in 10s and colour in the grid:

Count in 7s and colour in the grid:

1(2|3|4|5|6|7|8|9 (101 |12 |1]|2|3|a|5]|6|7[8]|9]10]1]12
13|14 (15|16 |17 |18 |19 (20|21 |22 |23 |24 1314|1516 |17 1819|2021 (22|23 |24
25(26|27(28(29|30|31|32|33(34(35(36 25|26 (27 (2829|3031 (3233343536
37 (38|39 |40 | 41 |42 |43 | 46| 45|46 |47 |48 37|38 |39 (40| 41 |42 (43 |44 | 45| 46 | 47 | 48
49 (50|51 | 52|53 |54|55|56|57|58|59 |60 49 50|51 |52(53|54|55|56|57|58|59 |60
61|62 |63|64|65|66|67|68(69|70]| 71|72 61 (62|63 |64|65(66|67|68[69(70| 71|72
73 (74|75 |76 (77|78 |79 |80|81|82|83 |84 73|74 |75 |76 | 77 |78 (79 |80 81| 82 | 83 | 84
85(86|87(88|89(90|91|92|93|94|95|96 85(86(87|88(89[90|91|92|93|94(95(96
97 | 98 | 99 (100|101 (102 (103|104 (105|106 |107 |108 97 [ 98 [ 99 (100|101|102(103 (104|105|106|107 108
109/110| 111 | 112113 | 116 | 115 | 116 | 117 | 118 | 119 |120]  [109]110| 111 | 112|113 | 114 | 115 116 | 117 [ 118 | 119 |120
12111221123 1124|125 | 126 | 127|128 129 1130 | 131 |132| | 121122123 |124| 125|126 | 127|128 129|130 | 131|132
1331134 1135 [136 | 137138 | 139 [140| 141 | 142 | 143 [164| |133 134|135 (136|137 (138 (139 [140( 141 | 142 | 143 | 144

7x 6=

2x 7

Mx7=

7x0=
1x 7=
7x 4=

7x 10=

8x 7=

3x7=

7x5=

7 x 9

5x0=
5x 7=
2x 5=

11x 5=
5x 12=

1x5=
5x 4

5x 10=

8x5
3x5=

5x 6=

5x9

10x 7 =

2x 1

1x 10=

10x 8 =

10x 6 =

11x 10=
10x 12=

10x 4 =
9x 10=

3x 10=
10x 0 =
10x 10=

Use the multiplication square to help you!

1 2

3

4| s

6 7

8

10

11

12

1 2

3

4| s

6 7

8

9

10

11

12

2 4

6

8 | 10

14

16

18

20

22

24

3 6

9

12| 15

21

24

27

30

33

36

4 8

12

16 | 20

24 | 28

32

36

40

4b

48

5 |10

15

20| 25

30 | 35

40

45

50

55

60

6 | 12

18

24| 30

36 | 42

48

54

60

66

72

7|14

21

28 | 35

42 | 49

56

63

70

77

84

8 | 16

24

32 | 40

48 | 56

64

72

80

88

96

9 | 18

27

36 | 45

54 | 63

72

81

90

99

108

10 | 20

30

40 | 50

60 | 70

80

90

100

110

120

11| 22

33

44 | 55

66 | 77

88

99

110

121

132

12 | 24

36

48 | 60

72 | 84

96

108

120

132

144




Count in 8s and colour in the grid:

1 2 3 [ 5 6 7 8 9 (10|11 ] 12
13|16 |15 |16 |17 |18 | 19 |20 | 21| 22 | 23 | 24| Count in 4s and colour in the grid:
25126 |27 |28(29|30 |31 (3233343536
37 138 |39 |40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 1 2 3 tll 5 6 7 8 9 10
49150|51|52|53|54|55|56|57|(58|59]|60

11/12(13(14|15(16|17118(19 |20
61 (62|63 |64|65|66|67 68|69 70|71 |72
73 |74 |75 |76 |77 |78 |79 |80 | 81 (82| 83 | 84

2112212324125 |26|271(28|29 (30
85|86 (87|88|89|90|91(92(93 |94 |95 |96
97 |1 98 | 99 |100(101|102|103(104|105(106|107 |108

31(32(33(|34(|35(36(37(38(39|40
109 MO | MM M2 M3 114|115 116|117 (118119 120
1211122 123|124 (125|126 (127 (128 (129 (130|131 (132

41 |42 (43 (44|45 |1 46|47 (4849 (50
133(134(|135(136 (137|138 (139 |140( 141|142 | 143 (144

8x 7=
8x 6

2x 8

11x 8 =
8x 12=

Ox 8=
8x 4=

8x 10=

8x 8=
3x 8=
8x 5=
8x 9=

9x 7=

9x 6=

2x 9=

11x 9=
9x 12=

1x9=
9x 4 =

9x 10=

Qx 0=
3x9=
Qx 5=
9x 9

5x 4=

4x 7=

2x 4=

1M1x 4=

4x 12=
1x 4=

4x 4=

4x 10=

8x 4=

3x 4=

4x 6=

4x 0=

Use the multiplication square to help you!

x 1

2 3

4

5

7

8

9

10

11

12

2 3

4

5

7

8

9

10

11

12

4 6

8

10

14

16

18

20

22

24

6 9

12

15

21

24

27

30

33

36

8 | 12

16

20

28

32

36

40

4b

48

15

20

25

35

40

45

50

55

60

18

24

30

42

48

54

60

66

72

21

28

35

49

56

63

70

77

84

24

32

40

56

64

72

80

88

96

o
© © ~ o 5 ~ w [N}

27

36

45

63

72

81

90

99

108

30

40

50

70

80

90

100

110

120

11

33

4b

55

77

88

99

110

121

132

12

36

48

60

84

96

108

120

132

144




Count in 6s and colour in the grid:

Count in 7s and colour in the grid:

1|23 |a|s|e|7|[8|9fw|[n|2] [;,]13]alslel7lsloliolnli
1314|1516 |17 18|19 (20| 21|22 |23 |24 1311615116117 118 19 [20] 21 | 22 | 23 | 24
25|26 |27 |28|29|30|31(32|33|34|35]|36 25126 |27 128 | 29 |30 | 31 |32 | 33 | 34 | 35 | 36
37 |38 |39 (40| 41 (42 | 43 | 44 [ 45 | 46 | 47 | 48 37|38 (39 |40| 41 |42 |43 |44 (45|46 |47 |48
49 |50 | 51|52 |53|54|55|56|57|58|59 |60 49 1501511525354 !55|56!57!58159!60
61|62 |63 (64)|65|66|67|68|69(70(71 |72 61 62|63 |64|65|66|67|68(69|70| 71|72
73|74 |75 |76 |77 |78 |79 |80 | 81|82 |83 |84 73|74 |75 |76 | 77 |78 | 79 | 80| 81 | 82 | 83 | 84
85|86 |87|88(89|90|91|92|93|94|95]|96 85|86|87(88(89(90|91|92|93|94|95]|9
97 | 98 | 99 |100|101{102|103{104|105(106|107 108 | 97 | 98 | 99 [100[101|102|103|104|105|106|107|108
109110 | 111 [ 112|113 | 114 | 115 | 116 [ 117 | 118|119 [120|  |109|110| 111 | 112|113 | 114 | 115 [ 116 | 117 | 118 | 119 |120
121122123 124 125|126 [ 127|128 129|130 | 131 |132|  |121122|123|124|125 | 126 | 127 [128|129 130|131 |132
133134 135 (136|137 138|139 [140| 141 | 142|143 [144| 133|134 (135|136 [ 137 138|139 |140| 141 [142 (143 | 144

9x 7 =

AQx 6 =
2x 9=
11x 9=
Qx 12=

1x9=

Qx 4 =
9x 10=

9x 0=

3x 9=
9x 5=

9x 9

ITx7=

7x0=
1x 7=
7x 4=

8x 7=

7x9

7x b=
2x 7=
1Mx 7=

7x 10=

3x 7=
7x5=

bx 6=

1x 6=
bx 4

3x b=

6bx 9=

bx 7=
Ox 6=
11x 6=
bx 12=

6x 10=
8x b=

bx 5=

Use the multiplication square to help you!

3

4

5

7

8

10

11

12

3

4

5

7

8

9

10

11

12

6

8

10

14

16

18

20

22

24

9

12

15

21

24

27

30

33

36

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108

10

20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b

55

66

77

88

99

110

121

132

12

24

36

48

60

72

84

96

108

120

132

144




Count in 10s and colour in the grid:

Count in 8s and colour in the grid:

112 (3 |4a|5|6|7|8]|9]|10[11]12

112 (3|4]|5 7189 (101112
13|14 (15|16 |17 |18 |19 (20| 21|22 (23|24

13|14|15(16 171819 (20| 212223 |24
25|26 (27 |28(29(30(31|32(33(34|35]|36

25|26 (27 (28|29|30(31(32|33(34|35]|36
3738 (39 |40 | 41|42 |43 |46|45|46| 47|48 37|38 |39 |40 | 41| 42 | 43 | a4 | 45 | 46 | 47 | 48
49 |50 |51 |52|53|54|55|56|57]|58|59]|60 49 5051152153056 !|55!56!57!58!59!60
61|62 |63 |64|65|66|67|68|69|70]| 71|72 61162163 64l65|66!|67168!69 |70 71172
85|86|87(88|89|90|91(92|93|94|95(96 85!86!87/88|89/90| 9192|9394/ 95|96
97 | 98 | 99 (100|101|102|103|104|105(106|107 (108 97 | 98 | 99 [100/101/102|103|104|105|106]|107 108
109|110 | 111 (112|113 (114 [ 115|116 | 117 | 118 | 119 (120} (109|110 | 111|112 (113 | 114|115 | 116 | 117 | 118 | 119 |120
121122 (123|124 (125|126 | 127 [128129(130(131]132| |121]122|123[12%]125|126 [127|128|129 [130| 131|132
133 (134|135 (136|137 (138|139 |140| 141 | 142|143 [14%4| [133(134|135(|136(137|138(139 |140| 141 | 142|143 | 144

8x 10=

8x 8

3x 8

8x 5=

8x 9

4x 6=
4x 0=

Use the multiplication square to help you!

3

4

5

7 8

9 |10

11

12

3

4

5

7 8

9 |10

11

12

6

8

10

14 | 16

18

20

22

24

9

12

15

21 | 24

27

30

33

36

12

16

20

24

28 | 32

36

40

4b

48

10

15

20

25

30

35 | 40

45

50

55

60

12

18

24

30

36

42 | 48

54

60

66

72

14

21

28

35

42

49 | 56

63

70

77

84

16

24

32

40

48

56 | 64

72

80

88

96

18

27

36

45

54

63 | 72

81

90

99

108

10

20

30

40

50

60

70 | 80

90

100

110

120

11

22

33

4b

55

66

77 | 88

99

110

121

132

12

24

36

48

60

72

84 | 96

108

120

132

144




Count in 7s and colour in the grid:

Count in 11s and colour in the grid:

11234 |5|6/7]|8)910/1 |12 123 |4|5|6|7|8|9]|10]|1]12
13|14 15116 |17 |18 |19 |20 | 21|22 | 23 | 24 1314|1516 |17 |18 |19 20|21 (22|23 |24
25|26 |27 (28 |29 (3031|3233 |34|35|36 25 (26|27 |28 (29|30 |31|32(33(34|35(36
3738 39|40 | 41|42 |43 |44 | 45|46 | 47 |48 37|38 |39 |40 | 41 |42 |43 |4k | 45|46 | 47 |48
49 (50 | 51 (52| 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 49|50 |51|52|53|56|55|56|57|58|59]|60
61 (62|63 |64|65|66|67 68|69 707172 61|62 |63 |64|65|66|67|68|69[70]| 71|72
73|74 |75 |76 | 77|78 |79 | 80|81 |82|83 |84 73|74 (75|76 | 77|78 |79 |80 81|82 83|84
85|86 |87|88|89(90| 91|92 93|94 (95|96 85|86 |87 |88|89|90|91|92(93 (949596
97 [ 98 | 99 [100|101|102|103|104|105|106|107 108 97 [ 98 | 99 |100(101|102(103|104(105(106|107 108
109|110 | 117|112 | 113 | 114 | 115|116 | 117 | 118 | 119 | 120 109|110 | 111 | 112|113 | 114 | 115 [ 116 | 117 [ 118 [ 119 |120
121 (122 {123 (124|125 (126 | 127 | 128 (129 (130 131 | 132 121(122|123 (124 (125|126 | 127 (128 (129|130 131|132
133 (134|135 (136 137|138 139 |140| 141 (142|143 (144 133 (134 (135|136 137 (138 | 139 |140| 141 | 142|143 | 144

7x7=
7x b=
2x 7

1"Mx7=

7x0=
1x 7=
I x 4=

7 x 10=

8x 7=
3x 7=
7x5=

7x9

11x 0=

1MMx 6=
2x 11=
Mx 11=
11x 12=

Tx11=

11x 4 =
9x 11=
11x 8 =

3x 1=

11x 5=
11x 10=

5x2=
2x7 =
2x2=

1x2=
2x4 =
2x0=
8x2=
3x2=
2x6=

2x9=

1M x2=
2x12 =

Use the multiplication square to help you!

3

4

5

7

8

10

11

12

3

4

5

7

8

9

10

11

12

6

8

10

14

16

18

20

22

24

9

12

15

21

24

27

30

33

36

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108

10

20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b

55

66

77

88

99

110

121

132

x
1
2
3
4
5
6
7
8
9
10
11
12

12

24

36

48

60

72

84

96

108

120

132

144




Count in 8s and colour in the grid:

Count in 11s and colour in the grid:

1 2 | 3|4 |5 6| 7|89 ]|10]|11|12 1 23|45 6 17|89 (10|11 |12
13 (14|15 (16 |17 (18 |19 |20| 21|22 (23 |24 1314|1516 |17 |18(19 (20| 21|22 |23 |24
25|26 |27 |28(29(30(3132|33(34(35](36 25|26 |27 (28|29 (30| 31|32|33|34|35|36
37 |38 (39 |40 | 41 (42 | 43 (44 | 45| 46 | 47 (48 37138 |39 |40 | 41 | 42 |43 |44 |45 | 46 | 47 | 48
49 (50 | 51|52 |53 |54|55|56|57|58|59|60 49|50 | 51|52|53|54|55|56|57|58)|59 |60
61| 62|63 |64|65|66|67|68(69(70(71 (72 61 (62|63 |64|65|66(67 (68|69 (70|71 |72
73 |74 |75 |76 |77 |78 |79 (80| 81 (82|83 |84 73 |74 |75 |76 |77 |78 |79 |80 | 81 (82|83 |84
85(86|87|88(89(90]|91|92|93 |94 |95 (96 85|86|87|88(89(90(91(92|93|94|95 |96
97 | 98 | 99 |100(101(102(103 (104|105|106|107 (108 97 | 98 | 99 (100|101(102|103|104 (105|106 |107 (108
109 110|117 | 112 (113 | 114|115 (116 | 117 (118 [ 119|120 109|110 | 111 | 112|113 (114|115 (116 | 117 | 118 | 119 |120
121|122 123 (124125126 (127|128 (129|130 131 | 132 1211122 (123|124 (125|126 (127|128 |129 (130|131 | 132
133 (134 (135136137138 (139 (140|141 | 142|143 | 144 133 (134(135|136 (137 (138|139 |140| 141 | 142|143 | 144

8x 7 =

8x 6=

2x 8=

11x 8 =
8x 12=

Ox 8=
8x 4=

8x 10=
8x 8 =

3x8

8x5=

8x 9=

5x0=
5x 7=
2x 5=

1x5=
5x 4

5x 10
8x 5

5x 6
5x9=

11x 5=
5x 12=

3x5=

11x 0=

1Mx 6=
2x 1=
Mx 1=
1Mx 12=

Tx11=

1Mx 4=
Ax 1=

11x 8 =

3x 11=
11x 5=
11x 10=

Use the multiplication square to help you!

x 1

2

3

4

5

7

8

10

11

12

2

3

4

5

7

8

9

10

11

12

4

6

8

10

14

16

18

20

22

24

6

9

12

15

21

24

27

30

33

36

8

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108

10

20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b

55

66

77

88

99

110

121

132

12

24

36

48

60

72

84

96

108

120

132

144




Count in 12s and colour in the grid: Count in 7s and colour in the grid:

1123 |4|5|6|7|8|9]|101]12 112 (3|4 |5|6|7|8|9(10|1]12
13 (14|15 (16 |17 |18 |19 |20 | 21|22 |23 | 24 13 (14 (15|16 |17 |18 |19 (20| 21 |22 |23 | 24
25126127 |28|129|30(31(32|33|34(35/(36 25 126|127 |28 |29(30(31|32(33|34|35(36
37 (38 (39 (40| 41 |42 |43 |44 | 45 | 46 | 47 | 48 37 |38 |39 (40| 41 |42 | 43 |44 | 45 | 46 | 47 | 48
49 |50 |51|52|53|54|55|56|57|58|59]|60 49 |50 | 51|52 |53 |54|55|56|57|58(59]|60
61 | 62|63 |64 |65|66|67 | 68|69(70|71 |72 61 |62 | 63|64 | 65)|66|67 68|69 (70|71 |72
73|74 |75 (76 | 77 |78 (79 |80 | 81 |82 | 83 | 84 73 (74 |75 |76 |77 |78 (79|80 81|82)|83 |84
85|86 |87 (88(89|90|91(92|93|94|95|96 85 (86| 87|88 (8990|191 (92|93|94 (95|96
97 | 98 | 99 (100|101|102|103 (104|105|106 (107 (108 97 | 98 | 99 |100|101|102(103|104(105|106|107 108
109|110 | 111 (112|113 | 114|115 (116 | 117 | 118 | 119 | 120 109(110 | 111 | 112 | 113 | 114|115 | 116 | 117 (118 | 119 |120
121122123 |124|125|126|127 |128 (129 (130 | 131 [ 132 121 (122|123 124|125 (126|127 128|129 (130|131 [ 132
133 (134|135|136(137 | 138|139 |140| 141 | 142|143 | 144 133 (134 (135|136 (137|138 |139 (140|141 | 142 (143 | 144

12x 7 = 5x 3= 7x 7=
12%x b6 = 3y 7 7x b= Use the multiplication square to help you!
B x [1|2]|3|a|s5]|6|7 |89 |10]11]12
2x 12= 2x 3= 2x 7= [ tf |23 |ese|T|8]o o)
— — 2246|868 |10]12]|14|16]18]|20([22] 24
12x 1= 1Mx 3= Mx7= 33|69 |12|15|18]|21]24|27[30]33]36
4 || o | 8|12 16|20]24|28]32]36]|a0]44]as
- _ 7x0= Kl
12x 12 3x 12= 0 5 [ 5 |10|15]|20|25]30(35]|40]4s5]|50]55]6e0
Ox 12= 1x 3 1x 7 = 6 || 6 | 12|18 263036 |s2]a8]5s]|60]06]72
7 || 7 | 16|21 2835|862 |49 |56]|63]|70]77 ]88
12x 4 = 3x 4 = 7 x 4= 8 || s |16|2s|32]|40|s8|56]|06s|72]|80]8s]|06
— —— I— 9 || o | 18|27 |36 |45 |54|e63]72]81]90]99 108
9Qx 12= I3x 10= 7x 10= 10 || 10| 20| 30|20 |50]60|70] 80|90 |100]|110]120
11 || 12| 2233 | 44 [ 55 | 66 | 77 | 88 | 99 |110] 121|132
12x 8 = 8x 3= 8x 7= 12 || 12 | 24 [ 36 | 48 | 60 | 72 | 84 | 96 |108|120| 132|144
3x 12= 3x0= 3x 7=
12x 5 = 3x 6= 7x5=
12x 10= 3x9= 7x 9=




Count in 9s and colour in the grid: Count in 6s and colour in the grid:

12 (3 |4|5(6 |7 |89 (10]11]12 1(2 (3|4 | 5|6 |7 |8]|9(10]|1]12
13114 |15 (16 |17 |18 |19 (20| 21 (22 | 23 | 24 13 (14|15 |16 (17 (18 |19 |20 21 |22 |23 | 24
25)|126(27 (281293031 (32|33 |34(35(36 2512627 |28 (29 (30|31 |32(33|34(|35(36

37|38 (39 (40| 41 |42 |43 (44 | 45| 46 | 47 | 48 37 |38 (39 |40 | 41 | 42 | 43 |44 | 45 | 46 | 47 | 48

49 150 |51 (52 (53 |54|55(56(|57)|58|59|60 49 |50 | 51|52 (53|54 |55|56|57|58(|59]|60

61 (62|63 |64 |(65(66|67|68|69|70| 71|72 61|62 (63 |64)|65|66|67|68|69 (70| 71|72

73|74 |75 (76 |77 |78 (79 (80| 81 (82|83 |84 73 |74 (75 (76 |77 |78 (79 (80| 81 | 82 | 83 | 84

85(86|87|88(89(90(91 (92|93 |94 (95|96 85(86(87 (88|89 |90(91(92|93|94|95]|96

97 1 98 | 99 (100|101|102(103 (104|105(106 (107 (108 97 | 98 | 99 |100(101|102|103|104(105(106 (107 (108

109|110 111 |[112 | 113 | 114|115 | 116 | 117 | 118 | 119 |120 109|110 111 (112 (113 | 114 | 115 (116 [ 117 | 118 | 119 (120

121|122 (123 | 124 (125|126 | 127 |128 (129|130 131 (132 121 (122|123 (124(125|126 (127 | 128|129 (130|131 (132

133(134(135 (136137 (138 (139 (140|141 [ 142 | 143 144 133134135136 137|138 139 (140| 141 | 142 | 143 (144

Use the multiplication square to help you!
q X = X = —
6 8 6 6x7 x [1|2]|3|&]|5]|6|7 |89 10]11]12
2x 9= 72x 8= Ox 6= [ tf |23 |ese|T|8]o o)
S — I — ——— 22| 4|68 |10]12|16]16]|18]|20]22]2s
11x 9= 11x 8 = 11x 6= 33| 6|9 |12|15]|18|21]24]27|30]33]36
4|l o | 8|12 16|20]24|28]32] 36|40 44]as
Ax 12= 8x 12= 6x 12= 5 5 |10[15]|20|25]3035]|40]|45]|50]55]60
6 || 6 | 12|18 )24 30|36 |s2]|a8]54]|60]66]72
1x9= Ox 8 = 1x 6= L
7 || 7 | 16|21 28|35] 62|49 |56]|63]|70]77] 84
qQx 4 = 8x 4 = 6bx 4= 8 || 8 | 16|24 |32]40 |48 |56 |6s]|72)|80]88]| 96
- _— - 9 |[ 9 | 18|27 |36 |45]|54|63]72]81]90]099|108
9x 10= 8x 10= 6x 10= 10 || 10 | 20 [ 30 | 40 [ 50 | 60 | 70 | 80 | 90 |100| 110|120
— 11 || 12 | 22 (33 | 44 | 55 | 66 | 77 | 88 | 99 |110| 121|132
9x 0= 8x 8= 8x b= 12 || 12 | 26 [ 36 | 48 [ 60 | 72 | 84 | 96 |108|120| 132144
3x 9= 3x 8= 3x b=
Qx 5 = 8x 5= bx 5=
9x 9= 8x 9= bx 9=




Count in 7s and colour in the grid.:

1|12 |3|a|5|6|7|8|9|10]1]12
Count in 4s and colour in the grid: 1314|1516 |17 (18 (19 |20 | 21|22 |23 |24
11203lalslel7!8!l9l10] |25]26]27]28|29|30|31|32(33]34|35|36
37 (38|39 |40 | 41 |42 |43 |44|45|066| 47|48
11112113114115116|17 18119120\ | ol :,|cq |52 | 53|54 |55 |56 |57|58|59 |60
21(22(23|24|25(26(27|28|29|30 61|62 |63|64|65|66|67|68(69|70| 71|72
73|76 |75 |76 |77 |78 |79 80| 81|82 |83 |84
31(32(33(34(35(36|37|38|39|40
85|86 |87 (8889|9091 (92(93|94(95]96
41|42 |43 |44 |45 |46 |47 |48 |49 (50| (97|98 |99 [100[101|102(103|104|105]|106|107|108
109|110 | 111 | 112| 113 [ 114 | 115 | 116 | 117 [ 118 | 119 |120
121122123 {124 125|126 (127|128 129|130 131|132
133|134 135136137 [138 {139 [140| 141 [142 | 143 | 144

4x 6=

4x 0=

3x0=

3x9=

3x b=

square to help you!

o
© © ~ o 5 ~ w [N}

x 1

2 3

4

5|6

7 8

9

10 | 11

12

2 3

4

5 6

7 8

9

10| 11

12

4 6

8

10| 12

14 | 16

18

20| 22

24

6 9

12

15| 18

21 | 24

27

30 | 33

36

8 | 12

16

20 | 24

28 | 32

36

40 | 44

48

10 | 15

20

251 30

35 | 40

45

50 | 55

60

12 | 18

24

30| 36

42 | 48

54

60 | 66

72

14 | 21

28

35 | 42

49 | 56

63

70 | 77

84

16 | 24

32

40 | 48

56 | 64

72

80 | 88

96

18 | 27

36

45 | 54

63 | 72

81

90 | 99

108

20 | 30

40

50 | 60

70 | 80

90

100|110

120

11 || 11

22 | 33

4b

55 | 66

77 | 88

99

110|121

132

12 || 12

24 | 36

48

60 | 72

84 | 96

108

120|132

144




Count in 12s and colour in the grid:

12x 7 =

12x 6 =
2x 12=
12x 11=
12x 12=

Ox 12=
12x 4 =
AQx 12=
12x 8 =
3x12=
12x 5 =
12x 10=

5x2=

2x2=

1x2=

2x0=

2x9=

2x7 =

1M x2=
2x12 =

2x4 =
8x2=

2x6=

bx b=

1x 6=

8x 6=

6x 7=

1Mx b=
6x 12=

bx 4=
6x 10=

3x 6=
bx 5=
bx 9=

1 2 3 4 5 6 7 8 9 (10| 11 |12
1311115116117 118119 120 21|22 | 23 | 24| Count in 2s and colour in the grid:
25 126(27 128|129 |30 |31 |32 (33|34 |35/|36

1 2 3 4 5
37 (38|39 |40| 41 |42 |43 |6s|a5| 46|47 |a8
49|50 | 51|52 53|54 |55|56|57|58|59 |60 6 7 8 9 10
61| 62 | 63|64 |65|66| 6768|169 (70| 71|72
73|74 |75 |76 |77 |78 (79 |80 | 81 | 82 | 83 | 84 11 12 13 14‘ 15
85|86 |87|88|89[90|91]|92|93|94|95]9

16 17 18 19 20
97 | 98 | 99 |100{101|102|103[104[105|106 107|108
109|110 (111 | 112|113 | 114 (115|116 | 117 | 118 (119 |120 21 22 23 24 25
121(122 123 (1241125126 (127|128 (129 |130| 131 (132
133 (134135 (136|137 (138|139 140 | 141 | 142 | 143 | 144

Use the multiplication square to help you!

3

4

5

7

8

9

10

11

12

3

4

5

7

8

9

10

11

12

6

8

10

14

16

18

20

22

24

9

12

15

21

24

27

30

33

36

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108
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20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b
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66

77
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99

110

121

132
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24
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72

84

96

108
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132

144




Count in 12s and colour in the grid:

Count in 8s and colour in the grid:

112 |3 |&|(5| 6|7 (8|9 |10(11]12 112 | 3|4|5|6|7|8)|9]|10|11]12
13 (14|15 |16 |17 (18 |19 | 20| 21 | 22 23 | 24 13|14 (15|16 (17|18 (19 |20 21|22 (23|24
25 (26|27 (28|29 |30(31(32|33(34|35(36 25|26 |27 |28|29(30|31(32|33(34|35](36
37 |38 (39 (40| 41 | 42 (43 | 44 | 45 | 46 | 47 | 48 37 |38 |39 |40 | 41 |42 |43 |44 | 45|46 |47 |48
49|50 )51 |52 |53|54|55|56|57|58|59 |60 49 |50(51|52|53|54|55|56|57|58)|59]|60
61|62 (63 |64|65| 6667|6869 70(71|72 61| 62|63 |64|65|66|67|68|69|(70|71 |72
73|74 |75 (76|77 |78 79 |80|81 82|83 84 73|74 |75 |76 | 77|78 |79 |80 | 81 (82|83 |84
85|86 (87|88|89/90)|91)|92|93|94|95(96 85|86|87(88(89|90|91(92(93(94|95]|96
97 | 98 | 99 (100(101|102|103|104|105(106|107(108( | 97 | 98 | 99 (100(101|102(103|104|105|106(107|108
109|110 (117 | 112 | 113 | 114|115 | 116 | 117 (118 | 119 [120( (409|110 111 (112|113 | 114 [ 115|116 | 117|118 | 119 |120
121122 (123|124 125|126 | 127|128 | 129|130 131 (132 |921|122(123 |124 (125|126 (127|128 (129|130 131 (132
133 |134(135 136|137 |138 (139 [140| 141|142 143 144 | (133134135136 137138139 |140| 141|142 |143 | 144

Qx 6 =

2x9

1Mx 9=
9x 12=

1x9
9x 4 =

9x 10=

9x 0=
3x 9=
9x 5=

9x 9

7x 6=

2x 7 =

11x 7=

7x 0=
1x 7=
7 x 4=

7x10=

8x 7=

3x7=
7x5=

7x9

5x2=

2x2=

1x2
2x4=

8x2=
3x2=

2x6=
2x9=

2x7 =

Mx2=
2x12 =

2x0=

Use the multiplication square to help you!

x
1
2
3
4
5
6
7
8
9
10
11
12

1 2

3

4

5

6 7

8 9

10

11 | 12

1 2

3

4

5

6 7

8 9

10

11|12

2 4

6

8

10

14

16 | 18

20

22 | 24

3 6

9

12

15

21

24 | 27

30

33 | 36

4 8

12

16

20

24 | 28

32| 36

40

44 | 48

5 |10

15

20

25

30 | 35

40 | 45

50

55 | 60

6 | 12

18

24

30

36 | 42

48 | 54

60

66 | 72

7|14

21

28

35

42 | 49

56 | 63

70

77 | 84

8 | 16

24

32

40

48 | 56

64 | 72

80

88 | 96

9 | 18

27

36

45

54 | 63

72 | 81

90

99 108

10 | 20

30

40

50

60 | 70

80 | 90

100

110|120

11| 22

33

4b

55

66 | 77

88 | 99

110

1211132

12 | 24

36

48

60

72 | 84

96 | 108

120

132|144




Count in 12s and colour in the grid:

Count in 7s and colour in the grid:

1|12 (3|4 (5|6 |7 (8|9 (10]11]|12 1 2 3| & (5 6 |7 8 92 10| 11 |12
13 |14 |15 |16 |17 |18 |19 (20| 21 |22 (23 | 24 13 (14|15 |16 |17 |18 |19 |20 | 21 |22 | 23 | 24
25 (26 (27 (28 (29 (30|31|32(33|34|35/|36 25 (26|27 |128(29 |30|31 32|33 |34 |35]|36
37|38 |39 (40|41 |42 |43 |44 | 45 | 46 | 47 | 48 37 (38 (39 |40 | 41 | 42 |43 |44 | 45 | 46 | 47 | 48
49 (50| 51| 52|53 |54(55|56(|57|58]|59% |60 49 |50 | 51 (52|53 |54 (|55|56|57|58|59 |60
61 |62 |63 |64 | 65| 66|67 |68(69|70| 71|72 61 (62 | 63 |64 |65 |66|67|68(69 70|71 |72
73 |74 (75|76 |77 |78 |79 |80 | 81| 82| 83 | 84 73 (74 |75 |76 (77 |78 |79 |80 | 81 | 82 | 83 |84
85(86|87|88|8990(91|92(93|94|95|96 85| 86|87 (8889|9091 (92|93 |94 |95 |96
97 | 98 | 99 (100|101 (102|103 |104|105|106 (107 (108 97 (98 | 99 |100(101|102|103 |104|105|106|107 (108
109|110 | 111 (112|113 | 114 | 115|116 | 117 | 118 | 119 {120 109|110 111 |112 | 113 (114|115 | 116 | 117 [ 118 | 119 | 120
121|122 (123 (124 (125 (126 | 127|128 | 129|130 131 (132 1211221123 |124 (125|126 (127 | 128 (129 |130| 131 [ 132
133|134 135 (136|137 (138|139 |140| 141 | 142|143 | 144 133|134 (135|136 137 (138 (139 |140( 141 (142 | 143 | 144

5x 4=
4 x 7
2x 4
1Mx 4

4 x 12=

1x 4

4 x 4

4 x 10=

8x 4=
3x 4=
4x 6=
4x 0=

12x 7 =

12x 6 =
2x 12=
12x 1=
12x 12=
Ox 12=

12x 4 =

AQx 12=

12x 8 =

3x 12=
12x 5 =
12x 10=

7x 6=
2x 7=

1Mx 7=

7x 0=
1x 7=
7 x 4=

7x10=

8x 7=

3x7=

7x5=
7x9

Use the multiplication square to help you!

1

2

3

4

5

7

8

10

11

12

1

2

3

4

5

7

8

9

10

11

12

4

6

8

10

14

16

18

20

22

24

6

9

12

15

21

24

27

30

33

36

8

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108

10

20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b

55

66

77

88

99

110

121

132

12

24

36

48

60

72

84

96

108

120

132

144




Count in 5s and colour in the grid:

Count in 10s and colour in the grid:

1 2 3 4 5 6 7 8 9 10 1 2 3|1 4| 5 6 7 8 9 (10| 11|12

131215161718 |19 20| 21|22 |23 |24
1121315161718 19]20

25|26 |27|28|29 (30|31 (32|33 343536
21|22 |23 | 24 | 25 | 26 | 27| 28 | 29 | 30

3738 |39 | 40| 41 |42 |43 |4s| 45|66 | 47|48
31 32133 |34 353637383940 49 |50 |51 |52 (53|54 (555657585960
M |42 | 43 |46 | 645 |46 | 47 | 48 | 49 | 50 61|62 |63|64|65|66|67|68[69]70| 71|72

85|86|87|88(89|90|91|92]|93|94|95|96
61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70

97 | 98 | 99 |100|101|102|103|104|105|106|107|108
7nl72|713 7|75 |76 |77|78| 79|80

109(110 | 111 [112| 113 | 114 | 115 | 116 | 117 | 118 | 119 120
81 82|83 |84 8 |86 |87 88 89|90 121122123 |124 [ 125|126 [127 128|129 [130| 131 | 132
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 |100 133|134 |135 [ 136 137|138 139 140/ 141 | 162 | 143 | 144

10x 7 =

10x 6 =

2x 10=

11x 10=
10x 12=

1x 10=

10x 4 =

9x 10=

10x 8 =
3x 10=
10x 0=
10x 10=

3x5=

5x 6=

5x9=

5x 3=
3x7=
2x 3=
1Mx 3=
3x12=
Tx 3=
3x 4=

3x 10=

8x 3=

3x0=
3x b=

3x9=

Use the multiplication square to help you!

2 3

4

5|6

7

8 9

10

11

12

2 3

4

5 6

7

8 9

10

11

12

4 6

8

10| 12

14

16 | 18

20

22

24

6 9

12

15| 18

21

24 | 27

30

33

36

8 | 12

16

20 | 24

28

32| 36

40

4b

48

10 | 15

20

251 30

35

40 | 45

50

55

60

12 | 18

24

30| 36

42

48 | 54

60

66

72

14 | 21

28

35 | 42

49

56 | 63

70

77

84

16 | 24

32

40 | 48

56

64 | 72

80

88

96

18 | 27

36

45 | 54

63

72 | 81

90

99

108

10

20 | 30

40

50 | 60

70

80 | 90

100

110

120

11

22 | 33

4b

55 | 66

77

88 | 99

110

121

132

12

24 | 36

48

60 | 72

84

96 | 108

120

132

144




Count in 7s and colour in the grid:

Count in 4s and colour in the grid: 1l2l3lalslel7!8!l9l10l1l2
11203lalslel7!8!9l10 13 (14|15 |16 |17 18|19 |20 21|22 |23 |24
25|26 (27 (28|29 (30|31 |32(33|34|35]36
11|12(13(14|15(16|17|18(19 |20 37|38 (39 |40 | 41 |42 |43 |44 | 45|46 |47 |48
49 |50 |51 |52 |53|54|55|56|57|58]|59 |60
212223 24|25\26|27 28| 29|30 61|62 |63 |64|65|66|67|68|69|70| 71 |72
31132133!34135!36137/38!39 |40 73|74 |75 |76 | 77|78 |79 |80 | 81| 82|83 |84
85(86|87|88(89|90|91(92|93|94 95|96
41 |42 |43 |44 |45 (46|47 |48(49 |50 97 | 98 | 99 [100(101(102{103|104(105|106|107 (108
109|110 (1171 | M2 (113|114 | 115|116 | 117 | 118 (119 {120
121 (122123 |124 125|126 {127 [128 129|130 | 131|132
133|134 135 136|137 (138|139 |140| 141 | 142|143 | 144

12x 7 =

12x 6 =
2x 12=
12x 1=
12x 12=
Ox 12=

12x 4 =

Qx 12=

12x 8 =

3x 12=
12x 5 =
12x 10=

bx 6=

1x 6=

8x b=

| bx 7=
| Ox 6=
711x6=
-6x'|2=

bx 4=
6x 10=

3x b=
bx 5=
bx 9=

8x 7=

8x b=

2x 8

11x 8 =
8x 12=
Ox 8=

8x 4=

8x 10=

8x 8
3x 8=

8x 5=

8x9

Use the multiplication square to help you!

1

2

3 4

5|6

7

8|9

10

11 | 12

3| &

5 6

7

8 9

10

11|12

6 8

10| 12

14

16 | 18

20

22 | 24

9 |12

15| 18

21

24 | 27

30

33 | 36

© [N ~ IN)

12 | 16

20

28

32| 36

40

44 | 48

15 | 20

251 30

35

40 | 45

50

55 | 60

12

18 | 24

30

42

48 | 54

60

66 | 72

14

21| 28

35 | 42

49

56 | 63

70

77 | 84

16

24 | 32

40

56

64 | 72

80

88 | 96

© © ~ o 5 ~ w [N} -

18

27 | 36

45

63

72 | 81

90

99 108

20

30 | 40

50

70

80 | 90

100

110|120

11

22

33 | 44

55 | 66

77

88 | 99

110

1211132

12

24

36 | 48

60 | 72

84

96 | 108

120

132|144




Count in 6s and colour in the grid: Count in 12s and colour in the grid:

1/2|3|4|5]|6|7|8|9|10]{11]12

1 2 3 4 5 6 7 8 9 10| 11| 12
1316|1516 |17 |18 19|20 21|22 |23 |24

13|14 (|15 (16|17 (18119 |20 | 21|22 |23 |24
25(26(27|28|29(30(31(32|33|34(35]36
37 (38|39 |40 | 41 |42 |43 | 44|45 |46 | 47 |48 2512627 28129130 3132]33 3413536
49!50|51152153|54|55156|57|58)|59]|60 37 138 (39 |40 | 41 |42 | 43 |44 |45 | 46 | 47 | 48
61| 62|63 |64 |65|66|67|68|(69|70| 71|72 49 (50|51 (52|53 (54|55(56|57|58| 59|60
73|74 |75 |76 |77 |78 |79 |80| 81 (82|83 |84 61162163646l 65|661 6768|6970 71| 72
85/86187|88189190)9119219319419519 | |3|74|75|76| 77|78 |79 |80 81|82]|83|84
97 [ 98 | 99 [100|101|102(103|104|105|106 (107|108

85(86|87|88|89|90(91|92(93 |94 |95| 96
109(110 | 111 | 112 | 113 [ 114 | 115 | 116 [ 117 | 118 | 119 |120

97 198 | 99 [100(101(102|103(104|105(106|107|108
121122123 |124 125 126 | 127|128 [ 129|130 | 131 | 132
1331134 135 [136 137|138 | 139 [120] 141 | 142 | 143 | 144 109|110 (111|112 (113|114 | 115|116 | 117|118 | 119 (120

12111221123 1124 (125|126 (127|128 129 (130 131|132

133|134 (135136137 |138 (139 (140|141 | 142 (143 (144

2x7=
2x2=
11x2=
2x12=

1x2=
2x4=
2x0-=

8x2=

3x2=

2x6=

2x9=

12x 6 =

2x 12=
12x 11=
12x 12=

Ox 12=
12x 4 =

Qx 12=
12x 8 =
3x12=
12x 5 =
12x 10=

6x 7=

Ox 6

11x 6=
bx 12=

1x b=

bx 4

6x 10=
8x b=

3x b=

bx 5=

6x A9

Use the multiplication square to help you!

x
1
2
3
4
5
6
7
8
9
10
11
12

3

4| s

7 8

9 |10

11

12

3

4| s

7 8

9 |10

11

12

6

8 | 10

14 | 16

18 | 20

22

24

9

12| 15

21 | 24

27 | 30

33

36

12

16 | 20

24

28 | 32

36 | 40

4b

48

10

15

20| 25

30

35 | 40

45 | 50

55

60

12

18

24| 30

36

42 | 48

54 | 60

66

72

14

21

28 | 35

42

49 | 56

63 | 70

77

84

16

24

32 | 40

48

56 | 64

72 | 80

88

96

18

27

36 | 45

54

63 | 72

81| 90

99

108

10

20

30

40 | 50

60

70 | 80

90 | 100

110

120

11

22

33

44 | 55

66

77 | 88

99 | 110

121

132

12

24

36

48 | 60

72

84 | 96

108 (120

132

144




Count in 7s and colour in the grid:

Count in 9s and colour in the grid:

1|12|3|a|5|6|7 8|9 |10|11]12 1123 |a|s5|6|7|8]|9]|10|1]12
13|16 |15 16|17 |18 |19 (20| 21|22 |23 |24 1311516171819 |20|21|22(23 |24
25(26(27 (28|29 (30(31|32|33|34|35]36 25 (26|27 (28|29 (3031 (3233343536
37 (38 (39 |40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 37 (38|39 |40 | 41|42 |43 |44 |45|46 |47 |48
49|50 |51 |52|53|54|55|56|57|58|59|60 49 | 50|51 |52|53|54|55|56|57|58|59]60
61|62 |63 64|65|66|67 (68|69 70|71 (72 61|62|63|64|65|66|67|68|69|70|71 |72
73 |74 |75 |76 | 77 |78 | 79 | 80 | 81 | 82 | 83 | 84 73|74 |75 |76 |77 (78|79 |80 81|82(83|84
85|86 |87 |88|89|90|91|92|93|94|95|96 85|86 (87|88(89(90| 919293949596
97 | 98 | 99 {100/ 101|102 (103 |104|105|106|107 108 97 | 98 | 99 |100|101|102|103 |104|105|106|107|108
109110 (117 | 112|113 (114 | 115 (116 | 117 | 118 | 119 (120| 109|110 111 | 112|113 | 114|115 | 116 | 117|118 [ 119 |120
12111221123 (124 (125 (126 | 127|128 129|130 (131 [132| | 121(122|123 [124(125|126|127 [128 (129|130 131|132
133 (134135136137 138 139|140 141|142 (143 (144 | (133|134 (135 (136 (137 (138|139 (140|141 142|143 (144

AQx 7 =
AQx 6=
2x9=
11x9=
AQx 12=
1x9=
AQx 4 =
ax10-
Ere
 3x9-
9x 5=
Qx 9

12x 7 =

12x 6 =

2x 12=

12x 11=
12x 12=

Ox 12=

12x 4 =

Qx 12=

12x 8 =

3x 12=

12x 5 =

12x 10=

5x3=
3x7=
2x 3=
1Mx 3=

3x 12=

1x 3=
3x 4=

Ix 10=

8x 3
3x0=

3x6
3x9=

Use the multiplication square to help you!

x 1

2

3

4

5

7

8

10

11

12

1 1

2

3

4

5

7

8

9

10

11

12

4

6

8

10

14

16

18

20

22

24

6

9

12

15

21

24

27

30

33

36

8

12

16

20

24

28

32

36

40

4b

48

10

15

20

25

30

35

40

45

50

55

60

12

18

24

30

36

42

48

54

60

66

72

14

21

28

35

42

49

56

63

70

77

84

16

24

32

40

48

56

64

72

80

88

96

18

27

36

45

54

63

72

81

90

99

108

10

20

30

40

50

60

70

80

90

100

110

120

11

22

33

4b

55

66

77

88

99

110

121

132

12

24

36

48

60

72

84

96

108

120

132

144




Count in 9s and colour in the grid:

Count in 6s and colour in the grid:

1(2 |3 |4 |5|6|(7|8(9]|10]1 |12 1(2 |3 |&4|(5]6|7)8|9 (101112
13 (14|15 |16 |17 |18 |19 |20 | 21 | 22 | 23 | 24 13|14 (15|16 |17 (18 |19 (20| 21 | 22 | 23 | 24
25|26 (27 |28(29|30|31(32(33(34|35|36 25 (26|27 (28 (29|30 (313233 |34|35](36
37 |38 (39 |40 41 | 42 |43 |44 | 45| 46 | 47 | 48 37 (38 |39 (40| 41 | 42 | 43 |44 | 45 | 46 | 47 | 48
49|50 |51 (52|53 (54|55|56|57|58|59 |60 49 |50 (51| 52|53 (54 |55|56|57|58|59 |60
61| 62|63 |(64)|65(66|67|68|69|70(71 |72 61|62 (63 |64 |65|66|67|68|69|70|71 |72
73 |74 |75 (76 |77 (78 |79 |80 81 |82 |83 | 84 73 (746|175 (76|77 |78 |79 |80 | 81| 82| 83 | 84
85|86|87(88|89(90(91|92|93 |94 |95 |96 85|86(87 8889|190 |91(92|93|94|95|96
97 | 98 | 99 |100(101|102|103 (104|105(106|107|108 97 (98 | 99 |100(101(102|103|104|105|106|107|108
109|110 | 111 (112|113 (114 | 115|116 | 117 | 118 119 (120 109|110 | 111 | 112 | 113 (114 | 115 | 116 | 117 | 118 | 119 (120
121122 (123 (124|125(126 127 |128|129 130 131 (132 121122123 (124 (125|126 (127 |128 129 (130|131 (132
133 (134135136137 |138|139 (140|141 (142|143 | 144 133 (134 (135 (136137 | 138|139 |140| 141 | 142|143 | 144

bx b=

b6x 7 =

Ox 6

11x 6=

bx 12=

1x 6=

bx 4=

6x 10=

8x 6

3x b=

bx 5=

6bx 9=

1x9=

9x 0=

Qx 6 =
2x 9=
11x 9=
Qx 12=

9x 10=

3x 9=
9x 5=

Use the multiplication square to help you!

x
1
2
3
4
5
6
7
8
9
10
11
12

1

2

3

4

5

6 7

8

10

11

12

2

3

4

5

6 7

8

9

10

11

12

4

6

8

10

12 | 14

16

18

20

22

24

6

9

12

15

18 | 21

24

27

30

33

36

8

12

16

20

24 | 28

32

36

40

4b

48

10

15

20

25

30 | 35

40

45

50

55

60

12

18

24

30

36 | 42

48

54

60

66

72

14

21

28

35

42 | 49

56

63

70

77

84

16

24

32

40

48 | 56

64

72

80

88

96

18

27

36

45

54 | 63

72

81

90

99

108

10

20

30

40

50

60 | 70

80

90

100

110

120

11

22

33

4b

55

66 | 77

88

99

110

121

132

12

24

36

48

60

72 | 84

96

108

120

132

144




Count in 5s and colour in the grid:

) ) ) 1 2 3 4 5 6 7 8 9 10
Count in 11s and colour in the grid:
1123 |4|5|6|7|8|9]10]|1]|12 1 12 (13 (14 | 15 |16 | 17 | 18 | 19 | 20
1316|1516 |17 18|19 |20| 2122|2324
21 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
25|26 |27 |28 |29 (30|31 |32|33[34|35]36
373839 |40| 41| 42|43 |46 45|66 |47 |08 31| 323334353637 383940
49|50 |51 |52|53|54|55|56|57|58|59|60 b1 | 42 | 43 | 4t | 45 | 46 | 47 | 48 | 49 | 50
61|62 |63 |64|65|66|67|68|69|70]|71]72
51 | 52 | 53 |54 |55|56| 57|58 59|60
73|74 |75 |76 | 77|78 | 79 |80 | 81| 82 | 83 | 84
85|86|87|88|89|90|91|92|93|94 95|96 61 | 62 [ 63 [ 64 | 65 | 66 | 67 [ 68 | 69 | 70
97 | 98 | 99 [100[101(102|103|104|105|106|107|108 nlmlnlalsle!l 78] 79 80
109|110 [ 111 | 112|113 | 114 | 115 | 116 | 117 | 118 | 119 120
81 | 82 | 83| 8 | 8 | 8 | 87| 88 | 89 | 90
121|122 (123|124 125|126 [ 127|128 129|130 131 [132
133 [134 135|136 137|138 [ 139|140/ 141 | 142 [ 143 [144 91 | 92 [ 93 [ 94 | 95 | 96 | 97 | 98 | 99 | 100

11x 0=
Mx 6=
2x 11=
11x 11=
1MMx 12=
Tx 11=
11x 4=
Qx 1=
11x 8=
3x 1=
11x 5=

11x 10=

5x 0=

5x 7=

2x5=

1Mx 5=

5x 12=
1x5=
5x 4=

5x 10=

8 x5

3x5=

5x 6

5xQ9=

Use the multiplication square to help you!

x
1
2
3
4
5
6
7
8
9
10
11
12

3

4

5

7

8

10

11 | 12

3

4

5

7

8

9

10

11|12

6

8

10

14

16

18

20

22 | 24

9

12

15

21

24

27

30

33 | 36

12

16

20

24

28

32

36

40

44 | 48

10

15

20

25

30

35

40

45

50

55 | 60

12

18

24

30

36

42

48

54

60

66 | 72

14

21

28

35

42

49

56

63

70

77 | 84

16

24

32

40

48

56

64

72

80

88 | 96

18

27

36

45

54

63

72

81

90

99 108

10

20

30

40

50

60

70

80

90

100

110|120

11

22

33

4b

55

66

77

88

99

110

1211132

12

24

36

48

60

72

84

96

108

120

132|144




Count in 8s and colour in the grid: Count in 11s and colour in the grid:

1|/2|3|&4|5|6|7|8|910|1M|12] (1|2 |3 |4|5|6|7|8]|9 10|71 |12

13 (14|15 |16 |17 (18 (19 |20 21 |22 |23 | 24 13|14 |15 |16 | 17 |18 |19 |20 21 (22 | 23 | 24

25126127 128129130131 132133(134|35] 36 25126 |27 (28|129(30|31|32|33|34(|35](36

37 (38 |39 |40 | 41|42 |43 |44 | 45| 46| 47 |48 37 (38|39 |40 | 41 |42 |43 (44 | 45| 46 | 4T | 48

49 (50| 51|52 |53|54|55|56|57|58|59 |60 49|50 (51|52|53|54(55|56(57|58|59 |60

61 (62 (63 |64 |65|66)|67|68|69|70|71 |72 61|62 |63 (64)|65|(66(67|68(69|70| 71|72

73 |74 |75 |76 |77 (78 (79 |80 ( 81 (82 | 83 | 84 73 |74 (75|76 |77 |78 |79 |80 | 81 (82|83 (84

85(86|87|88(89(90]| 919293 |94 (95|96 85(86|87)|88(89|90)91]92|93|94|95(96

97 [ 98 | 99 |{100(101|102|103|104|105/106|107 |108| | 97 | 98 [ 99 |100|101|102|103|104|105(106|107 (108

109|110 111 (112 {113 | 114|115 (116 | 117 | 118 [ 119 |120| |109|110| 111 | 112 | 113 | 114|115 | 116 [ 117 (118 | 119 [120

1211122123 (124125126 (127|128 (129|130 131|132 121(122 1123 124125126 (127 [128 (129130 131|132

133|134 (135|136 (137138139 [140| 141 | 142 (143 |144 | |133 134 (135|136 137|138 |139 |140( 141 (142 (143 |144

6x 7 Mx 6 8x b Use the multiplication square to help you!
— = X =
e — - 0 x 1 2 3 &4 5 6 7 8 9 10 | 11 | 12
Ox 6 = 2x 11= 2x 8 = (1t 23 |efs]e|r|e[o]o|uln
- - — 2 2 4 6 8 10 |12 (14 (16 | 18 | 20 | 22 | 24
11)(6: 11)(11: 11X8= 3|/ 3|6 |9 |12]15]|18|21|24]27]30]33]36
6 12 11 12 & 4 8 12 | 16 | 20 | 24 [ 28 [ 32 | 36 | 40 | 44 | 48
x = X - 8 X 12 = 5 5 10| 15| 20| 25|30 | 35| 40 | 45 [ 50 | 55 | 60
1 X 6 _ 1 X 11 _ O X 8 _ 6 6 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 60 | 66 | 72
- — 7 7 14 | 21 | 28 | 35| 42 | 49 | 56 | 63 (70 | 77 | 84
6x 4= 1M x 4= x 4 = | 8 | 8 [e[ 24| 32|40 [4s|56]ea|72]|50]88]0
- - S — 9 9 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90 | 99 | 108
6 X 10 = q X 1 1 = 8 X 10 = 10 10 (20 |30 | 40 | 50 | 60 | 70 | 80 | 90 (100 110|120
11 11 [ 22 | 33 | 44 | 55 | 66 | 77 | 88 | 99 |110|121|132
8x 6= 1Mx 8= 8x 8= 12 |[ 12 | 24 [ 36 [ a8 [ 60 | 72 | 84 | 96 | 108|120| 132|144
3x b= 3x 11= 3x 8=
bx 5= 11x 5= 8x 5=
bx 9= 11x 10= 8x 9=




